Trigonometry 3.3
Algebra 2
Fill in the following t-table for the landmarks on the unit circle. Remember that x = 0, and y is the trig. ratio for
that angle measure.

y =sin x y =C0s X

X y X y X y X y

0 -0 0 -0
/6 -1t/6 /6 -1t/6
/4 -1/4 /4 -1/4
/3 -1t/3 /3 -1t/3
/2 -1t/2 /2 -1t/2
27/3 -21/3 27/3 -271/3
3n/4 -3n/4 3n/4 -3n/4
5m/6 -51/6 5m/6 -51/6

L - L -
/6 -T1t/6 /6 -T1t/6
Sm/4 -5m/4 Sm/4 -5m/4
47/3 -41/3 47/3 -47/3
3n/2 -31/2 3n/2 -31/2
5m/3 -51/3 5n/3 -51/3
/4 -Tn/4 /4 -Tn/4
117/ -11m/6 117m/6 -11m/6
2n 27 2n 27
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y =tan x
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